A

BN RN TR
FH B e Famar (T S LR

S

Es

SRRk E-EY RE A W A=A &S 4istERE]:2014/04/01~2014/06/30
e AT D
sy B,
Pz TEERT pmmcmeogy | o= | E
B AL LS
8
B8 EYRERDAIRAE 3 730,715/ 0.04105568 0
JKEEYIRE A B IR A E 4 1,039,213 0.03849067 0
I EYIIRERAD AR E 0 0 0 0
B EYIRERAT AR A E 14 5,006,723| 0.02796240 0
G M EY R AR A E] 4 578,577| 0.06913514 0
T YRR AR A E] 7 1,300,094/ 0.05384226 0
BH & YRR B IR A E] 7 1,210,708 0.05781741 0
EnE Y IRER AR A E 0 383,886/ 0.00000000 0
F—EYIRERA AR A E 1 2,272,078| 0.00440126 0
B2 EY R R B TR A E] 0 0 0 0
= 2L TAN AN
gﬁfﬁﬂﬁﬁﬁ%ﬁﬁﬂﬁﬂnﬁﬁﬁﬁ : 2750,025 0.01818165 0
Bt EY RERA AR A E 15 2,784,267| 0.05387414 3
R E YR AR A E 2 975,443 0.02050350 0
5| Z=1H 4 oy AYAS \
’J‘ﬁ“‘ag%{%ﬁﬂﬁﬂﬂ AIRA 15 9,447,455 0.01587729 1
Wl g EEYIRE (A : 1253.866 0.03987667 0
PR H]
B S REIRER B IR A E] 7 467,667| 0.14967915 1
ERERL AT EYI R R A TR
0 32| 0.00000000 0
NEEES AT
EpLEEYRER AR A
5 736,218 0.06791467 0
EilSy SNl
ErH EY R B IRA
0 32| 0.00000000 0
Cil=slwarae=i
AR A EREY RER DA
0 15,226/ 0.00000000 0
PR E S E 5\ F]
HIREEaEE AN EYRE 0 3,020, 0.00000000 0



javascript:__doPostBack('SGrid','Sort$Col1')
javascript:__doPostBack('SGrid','Sort$Col2')
javascript:__doPostBack('SGrid','Sort$Col2')
javascript:__doPostBack('SGrid','Sort$Col3')
javascript:__doPostBack('SGrid','Sort$Col4')
javascript:__doPostBack('SGrid','Sort$Col4')
javascript:__doPostBack('SGrid','Sort$Col4')
javascript:__doPostBack('SGrid','Sort$shcnt')
javascript:__doPostBack('SGrid','Sort$shcnt')
javascript:__doPostBack('SGrid','Sort$shcnt')
javascript:__doPostBack('SGrid','Sort$shcnt')

EfF
E BN RRAIR AT A8

0 1,077| o.
SN ,0 0.00000000 0
QEET 94 30,956,322 0.03036536 5

Qe .

1 BB (5 AR IERGETHHREN - % ORbe A 5] 2 DR b s B
{6 A PR L SR R BAG PRl A LA N B 4R -

2. F Rk bR = e MR B & B 32U () #0 * 10000

3.5 E S (TR - (RIEETH R RITET - &RV ZE B G HRET R ERSE FHEE A
FIRAH B HEE N ERE A E A -

4.t e A Rt &2 103/08/12 1F -

5.FEEYIIRIERL YA TR A =] B Al L BRI E A E T > 103 SRS 2 TR BRI
B0

6. BHEE IR (AR A E HATH ZE R A AR T - 103 FE5E 2 TR AR
B0



